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; Grey line: exponential fit Peak flux: 1.496+/- 0.477 c/s/lcm? 7:
- Black Iing: power law + gauss fit Fluence : 6.45+/- 2.10 c/cm? B
L Dashed line: power law . ]
, Duration: 8.63+/- 3.77s -
- Best fit model: 1. .
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- b b bk, ! it e it bbbt
= iy m i it f M WM Wﬁ ﬁﬁHHHﬂHW ﬁﬂw Wﬂﬂﬁw i SW i WHWWH W H*QTH LM ﬁ W i Wﬁﬂﬂ? i #ﬁ W %ﬂ H WH:* th Hﬁt
= f 3
i T T T T T T T T T T T T T T T T T T T T T T i
— Power law fit plus Gaussian (st.dev.= 37.86+/-17.67 s, fracgs= -0.26+/- -0.54) =
- Power law index: -1.137+/- 0.198 (chi*-red= 1.13) 7
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